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	设备树
	=STC 结构拓朴
	IN
	-IN
	单线
	=STC/2.7:B
	=STC/2.8:B
	=STC/2



	JD
	-JD6
	多线
	14;13    =STC/2
	6;10    =STC/2
	7;11    =STC/2


	-JD7
	多线
	A1;A2    =STC/2
	24;21    =STC/2



	LAN
	-LAN1
	单线
	=STC/2.5:B


	-LAN2
	单线
	=STC/2.5:B


	-LAN3
	单线
	=STC/2.5:B



	M
	-M5
	-1
	多线
	=STC/2


	-4
	多线
	=STC/2




	OUT
	-OUT
	单线
	=STC/2.7:B
	=STC/2.8:B
	=STC/2



	P
	-P5
	-1
	多线
	=STC/2


	-2
	多线
	=STC/2




	PE
	-PE
	-13
	多线
	1    =STC/2


	-17
	多线
	1    =STC/2




	W
	-W2
	单线
	=STC/2.6:A


	-W3
	单线
	=STC/2.7:A


	-W4
	单线
	=STC/2.8:A


	-W5
	单线
	=STC/2


	-W6
	单线
	=STC/2


	-W7
	单线
	=STC/2


	-W8
	单线
	=STC/2




	=SEE 模型视图
	X
	-X18
	安装板布局
	=SEE/3




	=SCH 原理图
	+MCP 控制柜
	-1
	多线
	=SCH+MCP/16.1:B
	=SCH+MCP/16.2:C
	+24V    =SCH+MCP/16.2:C
	GND    =SCH+MCP/16.2:C
	PE    =SCH+MCP/16.2:C


	-2
	多线
	=SCH+MCP/16.1:B


	-8
	多线
	=SCH+MCP/16.1:D


	-9
	多线
	=SCH+MCP/16.2:D


	*
	-4*0.3
	多线
	=SCH+MCP/5.6:C
	=SCH+MCP/6.6:C
	=SCH+MCP/7.6:C
	=SCH+MCP/8.6:C
	=SCH+MCP/9.6:C
	=SCH+MCP/10.5:C



	B
	-B1
	多线
	13;14    =SCH+MCP/14.6:B



	DC
	-DC
	多线
	=SCH+MCP/4.6:C
	=SCH+MCP/4.7:C
	=SCH+MCP/4.8:C
	L    =SCH+MCP/4.6:C
	L    =SCH+MCP/4.7:C
	L    =SCH+MCP/4.8:C
	V+    =SCH+MCP/4.6:D
	V+    =SCH+MCP/4.7:D
	V+    =SCH+MCP/4.8:D

	-N
	多线
	PE    =SCH+MCP/4.7:C
	PE    =SCH+MCP/4.8:C
	=SCH+MCP/4.7:C
	=SCH+MCP/4.8:C


	-V+
	多线
	=SCH+MCP/4.6:D
	=SCH+MCP/4.7:D
	=SCH+MCP/4.8:D


	-V-
	多线
	=SCH+MCP/4.7:D
	=SCH+MCP/4.8:D




	F
	-F
	-TKRP[3*0.75+(2*0.5)P+1*0.5]P
	多线
	=SCH+MCP/5.4:C
	=SCH+MCP/6.4:C
	=SCH+MCP/7.4:C
	=SCH+MCP/8.4:C
	=SCH+MCP/9.4:C
	=SCH+MCP/10.4:C




	JD
	-JD1
	多线
	A1;A2    =SCH+MCP/11.6:B
	11;14    =SCH+MCP/11.6:B


	-JD2
	多线
	A1;A2    =SCH+MCP/11.5:B
	11;14    =SCH+MCP/11.5:B


	-JD3
	多线
	A1;A2    =SCH+MCP/11.4:D
	14;11    =SCH+MCP/11.5:D


	-JD5
	多线
	A1;A2    =SCH+MCP/12.6:C
	14;11    =SCH+MCP/12.7:C


	-JD6
	多线
	4;12    =SCH+MCP/13.1:C
	9;5    =SCH+MCP/4.1:C


	-JD8
	多线
	A1;A2    =SCH+MCP/12.1:C
	11;14    =SCH+MCP/12.2:C


	-JD9
	多线
	A1;A2    =SCH+MCP/21.6:B
	11;14    =SCH+MCP/21.6:B


	-JD10
	多线
	A1;A2    =SCH+MCP/21.6:C
	11;14    =SCH+MCP/21.6:B


	-JD11
	多线
	A1;A2    =SCH+MCP/21.6:D
	11;14    =SCH+MCP/21.6:C


	-JD12
	多线
	A1;A2    =SCH+MCP/21.6:D
	11;14    =SCH+MCP/21.6:D



	KM
	-KM1
	多线
	A1;A2    =SCH+MCP/4.2:C
	2;1    =SCH+MCP/4.2:A
	13;14    =SCH+MCP/4.1:B



	LR
	-LR1
	多线
	=SCH+MCP/13.7:D
	=SCH+MCP/13.8:D
	红    =SCH+MCP/13.7:D
	红    =SCH+MCP/13.8:D
	绿    =SCH+MCP/13.7:D
	绿    =SCH+MCP/13.8:D
	褐    =SCH+MCP/13.7:D
	褐    =SCH+MCP/13.8:D
	黄    =SCH+MCP/13.7:D
	黄    =SCH+MCP/13.8:D
	黑    =SCH+MCP/13.7:D
	黑    =SCH+MCP/13.8:D



	PE
	-PE
	多线
	=SCH+MCP/4.2:D
	=SCH+MCP/4.3:D
	=SCH+MCP/4.4:D
	=SCH+MCP/4.5:D
	=SCH+MCP/4.6:D

	-5
	多线
	1    =SCH+MCP/4.7:C


	-6
	多线
	1    =SCH+MCP/4.7:C


	-9
	多线
	1    =SCH+MCP/4.8:C


	-10
	多线
	1    =SCH+MCP/4.8:D




	QF
	-QF1
	多线
	3;4;1;2    =SCH+MCP/4.1:A
	=SCH+MCP/4.1:A



	S
	-S1
	多线
	=SCH+MCP/13.4:D
	4;3    =SCH+MCP/13.4:D


	-S2
	多线
	=SCH+MCP/13.4:D
	4;3    =SCH+MCP/13.4:D


	-S3
	多线
	=SCH+MCP/13.4:D
	4;3    =SCH+MCP/13.4:D


	-S4
	多线
	=SCH+MCP/13.5:D
	4;3    =SCH+MCP/13.5:D


	-S5
	多线
	=SCH+MCP/13.6:D
	4;3    =SCH+MCP/13.6:D


	-S6
	多线
	=SCH+MCP/13.6:D
	4;3    =SCH+MCP/13.6:D


	-S7
	多线
	=SCH+MCP/12.7:C
	4;3    =SCH+MCP/12.8:C


	-S8
	多线
	1;2    =SCH+MCP/11.4:D


	-S9
	多线
	=SCH+MCP/13.2:D
	3;4    =SCH+MCP/4.2:B
	3;4    =SCH+MCP/13.2:D


	-S10
	多线
	=SCH+MCP/13.2:D
	1;2    =SCH+MCP/4.2:C
	1;2    =SCH+MCP/13.3:D



	SERVO
	-SERVO(3x2.5+1x1.0+(2x0.5)P)P
	多线
	=SCH+MCP/5.4:E
	=SCH+MCP/6.4:E
	=SCH+MCP/7.4:E
	=SCH+MCP/8.4:E
	=SCH+MCP/9.4:E
	=SCH+MCP/10.4:E



	SF
	-SF1
	多线
	=SCH+MCP/5.5:A
	CN4:1    =SCH+MCP/5.5:D
	CN4:2    =SCH+MCP/5.5:C
	CN4:5    =SCH+MCP/5.5:C
	CN4:6    =SCH+MCP/5.5:C
	CN6:2    =SCH+MCP/5.5:D
	CN6:5    =SCH+MCP/5.5:D
	CN6:6    =SCH+MCP/5.5:D

	-B
	多线
	=SCH+MCP/5.5:D


	-L1
	多线
	=SCH+MCP/5.5:B


	-L1C
	多线
	=SCH+MCP/5.5:C


	-L2C
	多线
	=SCH+MCP/5.5:C


	-L3
	多线
	=SCH+MCP/5.5:C


	-NC
	多线
	=SCH+MCP/5.5:C


	-P
	多线
	=SCH+MCP/5.5:C


	-RB
	多线
	=SCH+MCP/5.5:C


	-U
	多线
	=SCH+MCP/5.5:D


	-V
	多线
	=SCH+MCP/5.5:D


	-W
	多线
	=SCH+MCP/5.5:D



	-SF2
	多线
	=SCH+MCP/6.5:A
	CN4:1    =SCH+MCP/6.5:D
	CN4:2    =SCH+MCP/6.5:C
	CN4:5    =SCH+MCP/6.5:C
	CN4:6    =SCH+MCP/6.5:C
	CN6:2    =SCH+MCP/6.5:D
	CN6:5    =SCH+MCP/6.5:D
	CN6:6    =SCH+MCP/6.5:D

	-B
	多线
	=SCH+MCP/6.5:D


	-L1
	多线
	=SCH+MCP/6.5:B


	-L1C
	多线
	=SCH+MCP/6.5:C


	-L2C
	多线
	=SCH+MCP/6.5:C


	-L3
	多线
	=SCH+MCP/6.5:C


	-NC
	多线
	=SCH+MCP/6.5:C


	-P
	多线
	=SCH+MCP/6.5:C


	-RB
	多线
	=SCH+MCP/6.5:C


	-U
	多线
	=SCH+MCP/6.5:D


	-V
	多线
	=SCH+MCP/6.5:D


	-W
	多线
	=SCH+MCP/6.5:D



	-SF3
	多线
	=SCH+MCP/7.5:A
	CN4:1    =SCH+MCP/7.5:D
	CN4:2    =SCH+MCP/7.5:C
	CN4:5    =SCH+MCP/7.5:C
	CN4:6    =SCH+MCP/7.5:C
	CN6:2    =SCH+MCP/7.5:D
	CN6:5    =SCH+MCP/7.5:D
	CN6:6    =SCH+MCP/7.5:D

	-B
	多线
	=SCH+MCP/7.5:D


	-L1
	多线
	=SCH+MCP/7.5:B


	-L1C
	多线
	=SCH+MCP/7.5:C


	-L2C
	多线
	=SCH+MCP/7.5:C


	-L3
	多线
	=SCH+MCP/7.5:C


	-NC
	多线
	=SCH+MCP/7.5:C


	-P
	多线
	=SCH+MCP/7.5:C


	-RB
	多线
	=SCH+MCP/7.5:C


	-U
	多线
	=SCH+MCP/7.5:D


	-V
	多线
	=SCH+MCP/7.5:D


	-W
	多线
	=SCH+MCP/7.5:D



	-SF4
	多线
	=SCH+MCP/8.5:A
	CN4:1    =SCH+MCP/8.5:D
	CN4:2    =SCH+MCP/8.5:C
	CN4:5    =SCH+MCP/8.5:C
	CN4:6    =SCH+MCP/8.5:C
	CN6:2    =SCH+MCP/8.5:D
	CN6:5    =SCH+MCP/8.5:D
	CN6:6    =SCH+MCP/8.5:D

	-B
	多线
	=SCH+MCP/8.5:D


	-L1
	多线
	=SCH+MCP/8.5:B


	-L1C
	多线
	=SCH+MCP/8.5:C


	-L2C
	多线
	=SCH+MCP/8.5:C


	-L3
	多线
	=SCH+MCP/8.5:C


	-NC
	多线
	=SCH+MCP/8.5:C


	-P
	多线
	=SCH+MCP/8.5:C


	-RB
	多线
	=SCH+MCP/8.5:C


	-U
	多线
	=SCH+MCP/8.5:D


	-V
	多线
	=SCH+MCP/8.5:D


	-W
	多线
	=SCH+MCP/8.5:D



	-SF5
	多线
	=SCH+MCP/9.5:A
	CN4:1    =SCH+MCP/9.5:D
	CN4:2    =SCH+MCP/9.5:C
	CN4:5    =SCH+MCP/9.5:C
	CN4:6    =SCH+MCP/9.5:C
	CN6:2    =SCH+MCP/9.5:D
	CN6:5    =SCH+MCP/9.5:D
	CN6:6    =SCH+MCP/9.5:D

	-B
	多线
	=SCH+MCP/9.5:D


	-L1
	多线
	=SCH+MCP/9.5:B


	-L1C
	多线
	=SCH+MCP/9.5:C


	-L2C
	多线
	=SCH+MCP/9.5:C


	-L3
	多线
	=SCH+MCP/9.5:C


	-NC
	多线
	=SCH+MCP/9.5:C


	-P
	多线
	=SCH+MCP/9.5:C


	-RB
	多线
	=SCH+MCP/9.5:C


	-U
	多线
	=SCH+MCP/9.5:D


	-V
	多线
	=SCH+MCP/9.5:D


	-W
	多线
	=SCH+MCP/9.5:D



	-SF6
	多线
	=SCH+MCP/10.4:A
	CN4:1    =SCH+MCP/10.5:C
	CN4:2    =SCH+MCP/10.5:C
	CN4:5    =SCH+MCP/10.5:C
	CN4:6    =SCH+MCP/10.5:C
	CN6:2    =SCH+MCP/10.5:D
	CN6:5    =SCH+MCP/10.5:D
	CN6:6    =SCH+MCP/10.5:D

	-B
	多线
	=SCH+MCP/10.4:C


	-L1
	多线
	=SCH+MCP/10.4:B


	-L1C
	多线
	=SCH+MCP/10.4:C


	-L2C
	多线
	=SCH+MCP/10.4:C


	-L3
	多线
	=SCH+MCP/10.4:C


	-NC
	多线
	=SCH+MCP/10.4:B


	-P
	多线
	=SCH+MCP/10.4:C


	-RB
	多线
	=SCH+MCP/10.4:C


	-U
	多线
	=SCH+MCP/10.4:D


	-V
	多线
	=SCH+MCP/10.4:D


	-W
	多线
	=SCH+MCP/10.4:D




	U
	-U
	多线
	=SCH+MCP/4.2:D
	=SCH+MCP/4.3:D
	=SCH+MCP/4.4:D
	=SCH+MCP/4.5:D
	=SCH+MCP/4.6:D



	V
	-V
	多线
	=SCH+MCP/4.2:D
	=SCH+MCP/4.3:D
	=SCH+MCP/4.4:D
	=SCH+MCP/4.5:D
	=SCH+MCP/4.6:D



	W
	-W
	多线
	=SCH+MCP/4.2:D
	=SCH+MCP/4.3:D
	=SCH+MCP/4.4:D
	=SCH+MCP/4.5:D
	=SCH+MCP/4.6:D



	X
	-X2
	多线
	=SCH+MCP/4.4:B


	-X3
	多线
	1    =SCH+MCP/4.6:D
	2    =SCH+MCP/4.7:D


	-X4
	多线
	1    =SCH+MCP/4.7:D
	2    =SCH+MCP/4.7:D


	-X5
	多线
	1    =SCH+MCP/4.8:D
	2    =SCH+MCP/4.8:D



	XS
	-XS1
	多线
	L;N;PE    =SCH+MCP/4.8:D



	Y
	-Y1
	多线
	x1;x2    =SCH+MCP/14.7:B


	-Y2
	多线
	x1;x2    =SCH+MCP/14.8:B



	雷达
	-雷达
	多线
	=SCH+MCP/21.3:D





	无结构标识符
	无结构标识符
	无设备标识符
	多线
	=SCH+MCP/11.4:D
	=SCH+MCP/13.1:C
	=SCH+MCP/13.3:C
	=SCH+MCP/13.5:C
	=SCH+MCP/13.7:C
	=SCH+MCP/13.8:C
	=SCH+MCP/11.1:B
	1;3;2    =SCH+MCP/14.2:D
	1;3;2    =SCH+MCP/14.3:D
	1;3;2    =SCH+MCP/14.4:D
	1;3;2    =SCH+MCP/14.6:D
	x2;x1    =SCH+MCP/12.8:D
	x1;x2    =SCH+MCP/13.2:D
	x1;x2    =SCH+MCP/13.3:D
	x2;x1    =SCH+MCP/13.4:D
	x2;x1    =SCH+MCP/13.5:D
	x2;x1    =SCH+MCP/13.6:D
	1    =SCH+MCP/4.2:D
	1    =SCH+MCP/4.3:D
	1    =SCH+MCP/4.4:D
	1    =SCH+MCP/4.5:D
	1    =SCH+MCP/4.6:D
	4;3    =SCH+MCP/4.2:B
	6;5    =SCH+MCP/4.2:B
	24;21    =SCH+MCP/12.7:C
	B    =SCH+MCP/4.4:D
	L1    =SCH+MCP/4.2:C
	L1    =SCH+MCP/4.3:C
	L1    =SCH+MCP/4.4:C
	L1    =SCH+MCP/4.5:C
	L1    =SCH+MCP/4.6:C
	L1C    =SCH+MCP/4.2:D
	L1C    =SCH+MCP/4.3:D
	L1C    =SCH+MCP/4.4:D
	L1C    =SCH+MCP/4.5:D
	L1C    =SCH+MCP/4.6:D
	L2    =SCH+MCP/4.2:C
	L2    =SCH+MCP/4.3:C
	L2    =SCH+MCP/4.4:C
	L2    =SCH+MCP/4.5:C
	L2    =SCH+MCP/4.6:C
	L2C    =SCH+MCP/4.2:D
	L2C    =SCH+MCP/4.3:D
	L2C    =SCH+MCP/4.4:D
	L2C    =SCH+MCP/4.5:D
	L2C    =SCH+MCP/4.6:D
	L3    =SCH+MCP/4.2:D
	L3    =SCH+MCP/4.3:D
	L3    =SCH+MCP/4.4:D
	L3    =SCH+MCP/4.5:D
	L3    =SCH+MCP/4.6:C
	P    =SCH+MCP/4.4:D
	=STC/2
	=SCH+MCP/12.2:C
	=SCH+MCP/12.5:B
	=SCH+MCP/12.5:C
	=SCH+MCP/21.3:D
	=SCH+MCP/21.4:D
	=SCH+MCP/4.1:B
	=SCH+MCP/4.2:D
	=SCH+MCP/4.3:D
	=SCH+MCP/4.4:D
	=SCH+MCP/4.5:D
	=SCH+MCP/4.6:D
	=SCH+MCP/5.5:D
	=SCH+MCP/6.5:D
	=SCH+MCP/7.3:C
	=SCH+MCP/7.3:D
	=SCH+MCP/7.5:D
	=SCH+MCP/8.5:D
	=SCH+MCP/9.5:D
	=SCH+MCP/10.4:D
	=SCH+MCP/11.2:B
	=SCH+MCP/14.2:B
	=SCH+MCP/14.3:B
	=SCH+MCP/14.5:D
	=SCH+MCP/14.6:D
	=SCH+MCP/21.1:B
	=SCH+MCP/21.2:B
	=SCH+MCP/21.2:D
	=SCH+MCP/12.3:C
	=SCH+MCP/12.3:D
	=SCH+MCP/12.4:C
	=SCH+MCP/12.4:D

	单线
	=STC/2





	设备列表
	=STC+-IN
	=STC+-IN
	=STC+-IN
	=STC+-IN
	=STC+-IN
	=STC+-IN
	=STC+-IN
	=STC+-JD6:14;13
	=STC+-JD6:6;10
	=STC+-JD6:7;11
	=STC+-JD7:A1;A2
	=STC+-JD7:24;21
	=STC+-LAN1
	=STC+-LAN2
	=STC+-LAN3
	=STC+-LAN3
	=STC+-M5-1
	=STC+-M5-4
	=STC+-OUT
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